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L AT 22 owrite the svstem of tinear equations represented

o the augmented matrix Use oy oand oonif necessary, w vy
and 2107 the variables.
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[ Exercises 1318, perform cach matrix row operation and write
e new matrey.
2 -6 410 SR
13 ] 1 5 =5]| @
b% 0 41 7
(3 —12 6|9 iR
|1 —4 40
| 2 0 714
[1 =% 2|0
15 | 3 1 =17 -3R, + R
2 =2 1
[1 -1 5|-6]
L1 3 2| 5]
1 -1 1 1|3
= = )
. 0 1 2 Ll X
2 0 3 4111 2R, + Ry
LS 1 2 41 6 —5R, + Ry
1 -5 2 -2| 4
18 0 1 -3 =l 0
18 B 2 -1| 6| -+ R
__4 1 4 2 73 4[{] + R_j

In Exercises 19-20, a few steps in the process of simplifving the
given matrix 1o row-echelon form, with 1s down the diagonal
from upper left to lower right, and 0s below the 1s, are shown. Fill
n the missing numbers in the steps that are shown.

1 -1 1| 8 | =4 1| 8&
Bl2 3 -1|-2|=|0 35 OO
3 -2 -9 9 0 1 O|0J
i =f I|&]
-0 1 OO0
1 O
2 3| a1 1 -2 3]|4]
Al ¥ 1 =4 3|l 5 OO0
- 4 -1|-2 0o -2 OOl
(1 -2 3] 4]
—|0 1 O|a
0o -2 0O)10]
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hir Lovercises 2138, solve cach systent of equations using matrices.
{se Canssian elimination with back-substitution or Gauss-lordan
climmation
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23, y+z | 24.

25. y—5=-4 26.

29. \—4+v—z 30.

+
x+y+z=4

3a— b—4d4c= 3 3¢+ b— c¢c= 0
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31. 20 — b+ 2c= -8 2.2 +3b-5= 1
a+2h—-3¢= 9 a—2b+3=-4
x+ 2y + 7z = —1 Ix+2y+3z=3
3B.{2x+ y+2z= 2 M. 4 -5y +7z=1
4 +6y+ z=15 2x+3y—22=6
(w+ x+ y+ z= 4
2w + — - =
ax 4 2% X —2y Z 0
w=2x— y—2z=-2
3w +2x+ y+3z= 4
w+ x+ y+ z= 5
wH+2x— y—2z=-1
36. :
: w—3x—-3y— z=-1
[Pw~ p+Qp— g=-12
3w—4dx+ y+ z=9
37 w+ x— y— z=0
Tl ow+ x+dy—22=3
—w+2x+ y—3z2=3
(2w + y—-3z= 8
28 w— x+ 4z = —10
P AIw+sx—-y— z= 20
| w4 ¥~—p= 2= &

Practice Plus

39. Find the quadratic function f(x) = ax= + bx
=2 = -4, f(l) = 2,and fi2) = 0.

40. Find the qumlmlu function flx) = ax’
(=) =511 =3 and f(2) = 5.

41. Find the cubic function f(x) = ax’ + bx> + ¢cx +d for

—1) =0, f(1) = 2.2) = 3.and f3) = 12,

42. Find the cubic function f(x) = ax® + by’ + u + d for
which f(—=1) = 3. )y =1A2) = 6. and f(3) =

+ ¢ for which

+ by + ¢ for which

which f{



